204 AE : EB = AP : PC = DF : FC &
8 uf, LAPF + (EPC 9] 377

@ 260 ° @ 261° @2620
@ 263° (G 264°

~&B

EP // BC ©|2& /APE = /ACB = 33°
(EPC = 180° - 33° = 147°
AD // PF ©]2& /FPC = /DAC = 55°
(APF =180°-65° = 115°
- LEPC + /APF = 147° + 115° = 262°




oS 2o M, N2 22 AB, AC 9] $%o0o|1, P, Q¥ ZtZ DB,
DC 9] &Ho]tt. MN = 3cm, RQ = 2em € o, PR 9] Zo]&=?

D
A
/R \q
ML—_/—N
’ N
B C

@)1cm ©) %cm ® 2cm ® —cm

MN = oB BC = 2MN = 2 x 3 = 6(cm)
A P, Q7} 22 DB, DC 9| FHo|BER
I— 1




3.

oS 1ol 4 AD//PQ//BC L W), x4y o] gHe?

o7 @ 75 ® 8 @®)8.5

AD//PE°|2E2 AP:PB=DE:EB---
m//mol,‘iiﬁ:ﬁ:m:@-n
@, ©°lA AP : PB=DQ: QC
6:3=5:x

1
x:—5:2.5

®© @

| D

Q:

)

C

=EQ:BCO|E25:75=y:9
y:9

)

S x+y=25+6=85




A= go] §ol7k 5km Q)
cm? 2 YEREA] 75k E}.

ol o =
1__‘—""1_

> E. 2

> HE: 125 cm?

~&B

11:20000 Q1 A &= QoA &

Z20o] 1:20000 o]B&
ool Hl= 1 : 400000000 ©]T}.
5km? = 50000000000cm?

1 : 400000000 = x : 50000000000
x =125 (cm2)




5. t% 194 AB//DE, DB//FE ©|t}. CF: FD =5 : 3 & 1,
AB :DE & #5HH?

®5:3 ©@8:3 @8:5 @ 13:5 ©13:8

CF:FD=5:3°|E2FE:DB=5:8°|1
@:@:C_D:C_Azﬁ:ﬁ:5z8°]‘:}'.
w24 AB:DE=8:5




6.

o5 7oA AD =
o, EF ] do|& i%

@ 6cm @ 6.5cm

@ 7.5cm ®)8cm

® 7cm




oS I3 28 AABC oA A8 AB, BD, DC, CA 9] 532 Ztz}
E, F, G, H&} gt} EH = 3em € wf, FG 2] Zo]=?

=1
F,

A

@ lem @ 2cm 3)3cm @ 4cm ® 5cm




#9] Zo]7} 0.1km 1 AHEE mopol wo] glet. o] &
9 HEE ekl ), o4 Yolg 7ot

e}

ol
e

500
@ 100cm? (@)40001112 ® 500cm?
@ 1000cm? ® 2500cm?

~&B

0.1km = 100m = 10000cm ©] 22 ZL oA o] g He] Zo

1

L (FEOIAY HWeol) = 400cm?




lo,
g
o
-
o
o

av)

9. thx 2"lA AFFE ABCD & AAE Y o, x

/,—5cm~~\\

E ,'
lcm /

B 7 C

D1 @1.25 ® 15 @ 1.75 ® 2

S5 ‘
ABCD @ ABEF 0|22

CD : EF = BC : BE ©°]|t}.
BC=AD=5(cm)°|B24:1=5:x

4x=5 Sox=1.25




10. 2 1994 AD = DE = EB ©]1, AF = FC ©]t}. DF ¢} BC 9]
Ao nde Gt o, FG & Zol=?

@ 5cm @ 5.5cm 3®)6cm

@ 6.5cm ® 7em

~&B

AAEC 9|4 AD = DE , AF = FC 0|2 &
A7k o] ZAAA A of of3) DF — ‘-‘ — 9(cm) , DF // EC

ABGD 94 BE =ED, EC//DG °|E&2
A7+ o] FHAEA 2] Gofl ool DG = 4 x 2 = 8(cm)
-.FG =DG - DF =8 -2 = 6(cm) ©|t}.




11. 18S BT EF 97 9 Lo
W9 (2, AD /) BO)

1o
)
o
-

ol
o

@D)36 cm @ 37cm ® 38cm

@ 39cm ® 40cm

AE = q 2}11 54
——  22X2a+14%x2a 22-+14
H: = :1

G % + 2a 2 8(cm)

— 1 14 1 14

BF 8Xa-+ Xa _ 8+ — 16(cm)
a+ta 2

— 22 1 22 +1

I — X a+ 8><a: + 8:20(cm)
a+t+a 2

ﬁ+ﬁ:20+16:36(cm)




12, 5 929 1 AZofA 5em Aol = F - AA AZE Am
, AA A 7F 500m 91 F 2 Q] A=A A7E Bm 2l @ o,
A +100B 9] k&2

@201 @251 @230 @20 6 20

B

(AA A=) = 5 x 50000 = 250000( cm) = 2500(m) ]2 Z
A = 2500
(A8l A2]) = 500 x

B =0.01
A +100B = 2501

—0.01(m) °]E&
50000 — 0-01(m) ]




13. 2 2”IA nABCDEAD//BCY 54 dem
Attte]&Zoltt, AE:EB=5:3, AD //EF
A o, PQ2] HolE otofek.

T~~-14em--77

i
o
=

>
[> HE . 725cm

I

AE:EB=DF:FC=5:3

BE:BA =EP: AD

3:8=FEP:4

8EP = 12,EP = 1.5(cm)

14x5+4x3 82 41

— = —=—=1025
5+3 8§ 4 (om)

PQ = EF - 2EP = 7.25(cm)

EF =




AABCﬂlﬂiﬁDLTJ%% o]1 AF =
FD o|t}. EB = 8cm ¥ W, AE ] Zo
=7

—_

@ 2cm @ 2.5cm ® 3cm

@ 3.5cm @4 cm
S8 ~

A DLXBC o] Z=HolB 2 oA}
Zo] EC o B35t = DG & 1°oH
FTAAZd 9 9 o3 EG = GB
o|tt.

np7ERH © 2 AAGD oA AE
EG
ﬂ'ﬂﬁﬁzﬁz@zél(cm)




15. iﬁ%la‘uoﬂ/ﬂ AE, F= 42
CP 9] Sdoltt. EF = 8cm ¥

@SCm

@ 6cm @ 7cm

@ 9cm

® 10cm




